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37. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것은?

 
(A) Nevertheless, medical personnel retain this information in 

a computer; they do not need to find a short-run value 
for it. Possibly, in the future, researchers will have 
collected sufficient data from which to propose a theory 
regarding the causes of and cures for a given disease. 

(B) For example, in hospitals today, a great deal of research 
is being conducted. Medical institutions are collecting all 
sorts of data on their patients. In many cases, though the 
data are analyzed, no answer is found. 

(C) They concentrate on what works and ignore the rest. A 
post-industrial society, however, is concerned with more 
than just this short-run, heavily pragmatic view. 

① (A) - (C) - (B)          ② (B) - (A) - (C)
③ (B) - (C) - (A)          ④ (C) - (A) - (B) 
⑤ (C) - (B) - (A)

One important characteristic of a post-industrial society 
is an increase in the importance of theoretical knowledge. 
Industrial societies are interested in the practical side of 
things. 
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